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P{) Check (ocqu),‘- Yot Hom (Rf4 , Rinnt) = (OR/ k),
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L_gm_ (R,fﬂ) Gorenstein. 0FRUcR ot i R= dim R/Q.n) R, = (0 Q).
Then R/MA, CM & Rfaa M and Rl has po emb. comp.
Tn +this case, = (0:A,) and dm Rz, = dim R.

Rgn_ Vt C?n culu,icljm and MEX a C.i- Le,t \"A C—[Pn be
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Thn VP codim =2 (ynoric c.i). Then TFAE: () V is ACM,
@) M,y Vs, V=V, V& a cii &€& Ni Via ar m(ﬂ- Cﬂeom) )
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() %3) ( xa, XP)
2 Q. What f we hoe 7 W minind Jﬁr’ees each Lime 7 Then fec:
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the mapping  cone of R — K ﬂiws resoln of R/Aa.
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NB. Can use +his to recover: PCc)—P(c')= %(dejﬂdejﬁ-‘l—)fdm)—dw’))
'FoY‘ ACM CUrves C/C./ More/ amy ACM Cochm=lcur‘{se "mke.cf {oV(ue(Jzz).

Sl H(E)  —>  H(K) B K
oy TR
Ext'y™ (Ra,R) — Ext'np(Rlz,R) 7 — K/
Homﬁ:’f/m, R(F) Hom (erlj R(F) ! {
T iy Vg G s we

ﬂ‘.ﬂ. Al\ﬁi lin|<a.je 5 je,om linkq3e gene,raﬁe the same etlu,iv- Aass.
(‘EJY" SubSCliemeS‘ c>)r Pn ellu,iclim, ho BMB ComP/ lecdé/ 0‘-‘() jw- cli-)

_Diﬁ Let C CTPB etluic‘m/ ne emb- cowp, lomﬂy CM, 3601 C.i- Curve.
MIC) = Hi(#) = @H'(40m).  (Hartshoime Rao _modale )

NB. FRr Space aurwes, Mc)=o & C s AWM.
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